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—HEMYDIXCIAE X8 =429 EAANLE 72 6,000,000 6,000
OXtetdd gl 14,250
—=4)| H=4| 1,008 » 254 = 300 14,250

202 OfHl 7,200 7,200

01 =LA 7,200 7,200
O=U0t 150,000& = 498 » 128 7,200

206 W24l 6,000 6,000

01 M=4l 6,000 6,000
OMgoIMel&F=H0ts 99 sE & 225 7Y 1,000,000& 1,000
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SN BFOED
By HOI2 KR 2L Hel
X

el Al Meld 2l (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
oMl Meld ga9as 2 5,000,000& 5,000
401 Al&HI LS04I 271,800 151,440 120,360
01 Al&H| 270,000 150,000 120,000
OMEMYIIXM2IE HE=SE S MY 250,000,000& 250,000
OdgMgldeld d8sg HEeAY 20,000, 000& 20,000
03 Al£=R0HHl 1,800 1,440 360
QM I Ml HESE HdEAY 250,000, 000& *0.72% 1,800
LA 29 1,157,849 150,434 1,007,415
201 Let2EH| 89,234 119,384 A 30,150
01 AtE22lHl 20,034 19,884 150
Oget=g| 20,034
—HYEER PY (&, EF2L S) 100,000& * 209H 2,000
—=2& JIEH 2 75,000& * 1094 750
—2& JIEX 7Y 60,000& * 1023 600
=221 AL =2 16,684
2200 B P A 1,000,000& * 12/ 1,000
A2 &2 At 227,800& * 33| 684
2280 tHII=E 500,000& = 12& 6,000
22801 CHOI=S &1 F AL 5,000,000& * 12 5,000
A2 B AHel ZOHP 8,000& = 5004 4,000
02 Z==224l 69,200 99,500 /30,300
(@) K=3:] 34,200
—A2AE RFU 1,900& * 60 ¢ » 300 34,200
OAEZ IS X 29,000
— 42 SX22HI(LX) 20,000,000& 20,000
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SN BFOED
By HOI2 KR 2L Hel
X

el Al Meld 2l (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
— A2 MZE A 4,500,000& * 23l 9,000
OXtete gt 6,000
—EgH 2 ¥ SFRUH(HEOH 6,000,000& = 1CH 6,000
206 M= dl 6,915 19,350 A 12,435
01 M=l 6,915 19,350 N 12,435
A2AAE AE Y 6.915
—EdE 3,6002 = 3kg * 300 3,240
— A3 (HAH 702 » 100kg * 300 2,100
—a43(2Y) 350& *15kg*300 1,575
307 QI2t0IA 1,011,700 11,700 1,000,000
05 2ItRAE = 1,011,700 11,700 1,000,000
Ox2AANE2E /EUEZ 125,000,000& = 8& 1,000,000
OA2D] I X2l 260,000 = 45& 11,700
401 A &HIZL 2048 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OA2D| ey DHEs 50,000,000& 50,000
BEsHelAE 23 421,451 258,141 163,310
201 Let2HH| 257,472 66,677 190,795
01 AtE22/Hl 241,872 61,077 180,795
Ogt=2H| 14,872
—MeDIMelE =Z2HAM === 14,272
= =AM 364,100& * 23| 2 DA 1,457
BF= A 364,100& * 123 * 20 8,739
HEIAIE =8 XIote H A 169,800& = 300 * 43| * 20 4,076
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SN BFOED
By HOI2 KR 2L Hel
X

el Ml Meld 2tel (&9 :&8d)
SA - EE - SRI(EA) - NRAY - BES 0l &t e B D52

—=Z2HA M= 2L 3,000& = 20074 600
Ogx= 227,000
—&E&+ 01Xl A=(EA) 80,000& * 2,500& 200,000
—s&2 0l&HMel A= (=0 90,000& * 300 27,000

02 3323l 15,600 5,600 10,000
OAl£ZHI| Xl 15,600
—dES==HelAlE |FR22HI(2H) 700,000& ~ 8CH 5,600
—g2tR X2 =l 10,000,000& 10,000

206 M= Hl 53,979 60,451 NG,472

01 M=l 53,979 60,451 NG,472
OFE=HMelAd 4EFL(ER) 22,684
—&stM2E 12038 = 200kg » 365% 8,760
—HA AN T 453 * 200kg * 365 3,285
—EFHA 3,000& * 10kg » 200 6,000
—AEH 2,000& = 0.2kg * 365¢ 146
—SZH 4,000& = 1kg * 365 1,460
—ga 248 2,000& = 500kg * 22l 2,000
—S8x 5,000% = 0.5kg * 365¢ 913
—PH& AHA 5,000& » 2JHa = 123 120
OFEEHMelAE AZFL(H0t) 31,295
—Jtd A Ct 2303 * 150kg * 123 414
— ot 1158 = 3,000kg * 12& 4,140
—Z2cli A 10,4102 * 2,000 £ 20,820
—Z2ealul ¢ 10,4108 ~ 220 ¢ 2,291
—JtECIXNEH 3,630
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SN EPN
H: Hol2

e Aedl % (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

401 Al&HI YL SO 110,000 131,013 A21,013

01 Al&H| 110,000 131,013 221,013
O&ZE== ROAIE sX22l 110,000
—auE, @WeEg el W 70,000,000& * 12 70,000
—&d&E=+ RO ddl=H 30,000,000& * 12 30,000
—220HE 7 10,000,000& 10,000

HIISHM2IAlY =8 QI@oA 31,938 30,738 1,200

201 et 3,800 2,800 1,000

01 AR 22l 3,800 2,800 1,000
o=2d+d 2,800
—HJISHM2AlE =H FOUXFE2AM 2= 2,800
FOIXAE2AM (LRI 70,000& * 794 * 23| 980
FOIXIEEols (&0} 70,000& * 1398 * 23| 1,820
Ogx= 1,000
—HJISHM2AE = IS JdAXAS SR 500,000& = 1CH * 23l 1,000

203 HRF&HI 1,000 800 200

03 AIMZ=XHSZ=EH| 1,000 800 200
OMdIIMeld =3 URANAHR =8 200,000& * 53| 1,000

301 et ez 27,138 27,138 0

12 JIEtE24 3 27,138 27,138 0
OXelIHeld FUZANRA 243 46,7893 » 290 * 29H 27,138

MEMY D] A2PAIE EX 1,179,000 40,000 1,139,000
= 1,179,000

401 Al&HI LS OHYI 1,179,000 40,000 1,139,000
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SN BFOED
By HOI2 KR 2L Hel
X

ol MElD| MelE e EE LD
- _ _ P
SH - EB - S(BH) - MBAY - BES 0l & 24 e BB
= 1,179,000
01 Al£H| 1,179,000 40,000 1,139,000
OFYR HIIS A2AANE EXIAY 1,179.,000,0002 1,179,000
= 1,179,000
NEZE AL 22| 6,839 308,106 ~301,267
201 Yere | 6,839 6,706 133
01 At222/H| 6,839 6,706 133
Ot 6,839
—ASEE HEE 22l 6,839
HrE s SEAA 364,108 * 43l 1,457
NIt &2 A 169,800% * 34 * 63l 3,057
NES SH2A 241,008 * 244 * 43 1,930
NEIN 394,508 * 18l 395
yyey x4 1,591,100 1,439,391 151,709
Mol 2YEI| 2 241,505 144,544 97,051
101 Q121 40,605 33,384 2,221
04 JIZHIZRNSES 40,605 33,384 2,221
OBP=ENEH 40,605
-J23 34,9108 * 3% * 200 30,372
—guaesy 34,9108 » 3% » 412 * 1.5 6,441
—4eEE 36,813,008 * 0.103 3.792
201 Yereg| 93,590 83,760 4,830
01 AFR22/H| 85,750 81,400 4,350
Og et 2H| 84,250
— MY BYH RASE FY 12020 * 600,00004 72,000
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AN EZ A
NI |2
=

Pl 3yad x4 CEREE
SA - EH - SRA(B) - NRAY - B2 0f et o e Bl DE 2
—SENESE sHMA 300,000& = 8K 2,400
—HIEASFAE E2 AEIHA 300& * 10,0000H 3,000
—WHEHIIZS AEIH ME 170& * 5,0000H 850
—MYJISEEI EES M 2,000,000 * 32 6,000
ogxs 1,500
—=9 HEHJlE2 =x&d gx= 500,000& = 3CH 1,500
02 322l 7,840 7,360 480
Os32= & HAl 6,840
—ZAIJt0IcH QY AFE = 350,000& = 12& 4,200
—Z At E01R3 20,000& = 1104 * 128 2,640
OAl£€ ZHIs Xl 1,000
—ZAlZtolet ==2ld 250,000 * 43 1,000
202 044 5,400 5,400 0
01 ZUH0iH 5,400 5,400 0
OXIISEEI RN 150,000& = 3¥ » 12& 5,400
301 Yere a3 2,000 2,000 0
12 JIet24 =S 2,000 2,000 0
OMIISESI MIEAS 2,000,000& 2,000
307 2rztold 20,000 10,000 10,000
05 QIZtRIE =S 20,000 10,000 10,000
QHYIZ2 285%J] Ml 20,000,000& 20,000
401 NEHILS ] 80,000 0 80,000
01 Al£Hl 80,000 0 80,000
OZAIGthet =cl & S&EX WA 80,000
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o

0
r
10

SN B EP(EH) - HIRAN -

0x
o

>
12

2 (A
R
J2H

Ol

==

—&JI4Hl, &%, AAH ZX 35,000,000 35,000
—ZAIJt0IcH =2l 5,000,000& » 9IH A 45,000
SEAI g2l 23,010 29,410 26,400
201 LEH2HH| 23,010 29,410 6,400
02 3223l 23,010 22,210 800
OZ232= ¥ HAl 2,210
—E2EAX SENERES 70,000& * 23l 140
—S2FHAX BES (S 23 30%) 2,000,000& 2,000
—E2FHAT NSIHA 70,000& 70
Ot et 20,800
—S2EAX 2 & RFM 16,000,000& 16,000
- Edx #Y 400,000& 122 4,800
diol =8 =2E S 1,326,495 1,265,437 61,058
201 Zet=&Hl 4,500 4,500 0
02 3323l 4,500 4,500 0
O3&32= % MAl 3,600
—RIXF=H GPS AIAE MEZ 20,0003 = 15CH = 123 3,600
OAE & HI=Xdl 900
—RIXF=H GPSAIAE FXE= 5,000& = 1504 ~ 128 900
307 2120l & 1,321,995 1,260,937 61,058
05 BIZtRE = 1,321,995 1,260,937 61,058
oMMy Il =828t 684,311,000& 684,311
O3alE Xl =828t 292,729,000& 292,729
O34ls HolSH 344,955,000& 344,955




A SF L
I Holg s 2 HMel
el HEAMES (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
NEAHEES 598,487 487,327 111,160
MEHIIZ 25t 317,767 360,687 N42,920
101 el 4] 256,867 256,867 0
04 JIZHMIZ2XEE =+ 256,867 256,867 0
Olg® MHess 2 256,867
—Jl=22 45,9403 * 1494 » 200 186,517
— 522 45,9403 » 1498 « 41 26,370
—40 B2 212,887,000& * 0.103 21,928
—E XY 45,9403 x 120 4 H 22,052
201 et 39,400 46,220 26,820
01 AtS 22l 30,000 38,300 28,300
Ogel=gH| 30,000
—MJ] HHEE A ot E 50,000& * 200K 10,000
—Hessg = EJI(PPEN) P 300& = 10,0000H 3,000
—HaEE s 222 A 2002 =10, 0000H 2,000
—SASMYI dE=HED #E 50,0003 * 3004 15,000
02 Z&=234l 9,400 7,920 1,480
OAl & &EHI=XIH 9,400
—HUIZEGHE SA2el 500,000& * 1401=S = 13l 7,000
—dEMg D] 2oL FRAES 100,000& * 2 = 128 2,400
202 O4Hl 1,800 1,800 0
01 WY 1,800 1,800 0
O=WHHI 150,000& = 1% * 128 1,800
303 Z&a3 19,700 18,000 1,700
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A SHAME L
HH: HIIE2 KAEE ¥ Hel
ool UAES (el de)
SA - EH - SRA(B) - NRAY - B2 0f et o e Bl DE 2
401 AIEHIZ R0 151,080 0 151,080
01 A&l 150,000 0 150,000
ONgE 538 22831 4X 150,000,000& 150,000
03 A&=20HYI 1,080 0 1,080
oNgs ss¢ 22810 &X 1,080,000 1,080
SN 2,050,802 638,031 1,412,771
& 200,000
< 60,000
= 1,790,802
S84l 2,050,802 638,031 1,412,771
= 200,000
S 60,000
s 1,790,802
stEo ZESE 2el 311,720 112,993 198,727
101 el 33,270 31,449 1,821
04 JIZtHZE2NSES 33,270 31,449 1,821
Oztadzgd3sd 2l 33,270
— el 2 34,9108 » 83 = 108 30, 163
—4U2E= 30,162,240& = 0.103 3,107
201 2Bt 37,440 16,440 21,000
01 At 2t2lbl 25,440 4,440 21,000
Ogt==H| 4,000
—&d=d Mo AE TS 300,000& = 2& 600
—ddae Hles2 1,000,000& = 2& 2,000
— Y= HIIEH HIIBA 1,000,000 1,000
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A SF L
M SR
el SEEI (cel: &
SN BB SRI(BI) - MIRAY - skl e s
—SANSEU A2 AIEE B+ 5,000,000& 5,000
(@) K=3:] 1,500
—W=HIl S 300,000& * 53 1,500
207 A IONLHI 20,000 0 20,000
01 22E 4| 20,000 0 20,000
OZ3ANEE AHLTA B2Y 20,000,000& 20,000
401 A EHIL 204 1,235,000 246,980 988,020
01 Al&HI 1,235,000 245,000 990,000
OZ a2l ZHAE HE AAIEA 200,000,000& 200,000
OEANZE X2+ 20,000,000& 20,000
OEANSZSE MsSAdES X 3,000,000& * 542 15,000
OgXg+ EHlIAY 1,000, 000,000 1,000,000
405 AHoHESHI 1,600 0 1,600
01 HARESFSH 1,600 0 1,600
O3222&8 WxIl & ZH 7L 1,600
— W0l 300,000& * 2CH 600
—JIAE 500,000& = 2CH 1,000
2= 22 17,702 18,109 A407
101 el 7,702 8,109 2407
04 JIZtHIZ2E2HEE+ 7,702 8,109 ANA07
OHtted s 2Al4 2tel 7,702
— Q24| 34,9108 » 2H = 100 6,982
—4JUEE= 6,982,000& * 0.103 720
401 Al&HI YL S OHYI 10,000 10,000 0
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SN AR D
B TN
el ZRFH| (9l @2
- _ — HE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
01 Al 10,000 10,000 0
osEERE LEAde DI B4 10,000,000%! 10,000
NTH elmoe £4 402,880 200,000 202,880
z 200,000
= 60,000
2 142,880
401 AlEBIZ 2 ThY| 402,880 0 402,880
z 200,000
= 60,000
2 142,880
01 Al&t] 400,000 0 400,000
Ost2d NAESY X4 400,000,000%! 400,000
z 200,000
= 60,000
2 140,000
03 Al =i 2,830 0 2,880
Ost2d NUESY X4 2,880,009 2,880
NEPEREEE 8,177,502 7,110,365 1,067,237
2 2,388, 110
z 533,680
= 3,488
= 783,545
7 2 4,468,769
HEL 2,214,762 1,738,840 475,922
2 628,766
= 3,488
= 174,220
2 1,408,288
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A SF L
M MATAL SR
el MEEs EEEEED
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
LEYE S (XHA) 923,021 777,849 145,172
101 el 537,193 508,913 28,280
04 JIZHMIZ2XEE =+ 537,193 508,913 28,280
OU=ZAIE 528,854
— Q| 34,9103 * 65H * 210 476,522
—4E2E= 476,521,500& * 0.103 49,082
— Il =4 50,000& * 659 3,250
OLEE SHIDI&Y 8,339
— Q21| 42,0002 » 6H = 30 7,560
—4AEE = 7,560,000& = 0.103 779
201 Let2HH| 45,940 65,961 220,021
01 AtE22/Hl 37,450 60,870 A 23,420
Oget=gH| 20,650
—MEYUT EEE M (82 S) 15,000,000& 15,000
—AU2RHEI| SIEA =2 65,0002 * 10CH 650
—MEAIE 2 =22 500,000& = 102 5,000
O= &l 4,200
—MELXNUHH2R 22X =4I 7,000& = 3% » 200 4,200
Oogdxt= 12,600
— M2 =g Xt 900,000 « 7&+204 12,600
02 &=l 8,490 5,091 3,399
OAl & &EHI= Xl 8,490
— &= ESAE FFU 1,617& * 104 » 210 = 204 6,792
—AEHEHI RFH 1,6173& = 500 = 7AI2H 30 1,698
202 O4Hl 6,720 6,720 0
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A LS
=L EPCIPNEEI Y
ool A Es cHol: 2
S HE B - KRAY - BAS &by e 52
01 2L 6,720 6,720 0
Ott=0geEs =& ol 20,0002 4% » 72 « 128 6,720
301 et a=z 500 500 0
12 JIet24a = 500 500 0
Od=2A DX Zos 100,000& = 53| 500
303 Za= 3,500 0 3,500
01 Z&3 3,500 0 3,500
OdSLINUH =898 A3 3,500
— 2= 1,000,000& * iS¢ 1,000
— = 500,000& * 2S¢ 1,000
—&d 300,000& * 50HEH 1,500
308 KNHXISHHMSOIE 263,668 167,255 96,413
05 MHXSHM2AELS 263,668 167,255 96,413
oglgxeEg= 152,050,000& 152,050
OAHZ AL 111,618
—HF=2d 191,000,000 = 1km * 9% 17,190
—Ar & 250,000,000& = 40HA * 9% 90,000
—Agd =4 7,000,000 = 4002 « 9% 2,520
—ArZAY EfE A EOt 4,025,500 * 5JHA * 8.983% 1,809
—AEEH 210,000& = 1ha * 9% 19
—AEEEZ 442,000& * 2002 ~ 9% 80
401 AIEHIZ 20 22,500 20,000 2,500
01 Al£Hl 22,500 20,000 2,500
Odt=Uoi= MAAE 1,000,000& =* 10ha 10,000
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& 225
= 525
—I=H[(559) 400,000& =+ 559H 22,000
= 8,800
L= 3,960
i 9,240
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29,560
13,302
41,038
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OfR&I 2¢ 800,000& + 3CH 2,400
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01 Ml 5,000 10,000 A5,000
OxUSTHAEE LH X 5,000,000 5,000
301 EtEa3 300 300 0
12 JEBEa3 300 300 0
OAURTHASY A 243 100,000& * 32 300
AHETHE LMl XA (2X) 423,367 251,810 171,557
= 272,406
< 42,417
= 108,484
101 24y 148,973 167,986 19,013
= 70,323
< 21,207
= 57,443
04 JIZARZ22NHEE2 =+ 148,973 167,986 19,013
Odt=dgals ol LRE(2H) 148,973,000 148,973
= 70,323
< 21,207
= 57,443
201 Let2g| 13,211 11,644 1,567
= 6,259
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104,547

13,442
30,297
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O=2&+ LM %X 20,0002 * 100% 2,000
401 AIZHIZLSTHY] 55,394 0 55,394
= 6,410
=2 3,488
= 45,496
01 Al&H 55,394 0 55,394
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= 6,410
2 3,488
= 45,496
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Ot MBI AS AL 165,281
—MEESASAML (LS 0ISEHEEL 7Y) 81,885,000 81,885
= 49,131
< 9,826
= 22,928
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2,641,663
1,485,880
332,050
823,733

1,321,395

1,320,268

101

MW

17,168
10,112
2,022
5,034

16,853

315

04

22 XS
OLH RHR AL

=
-
C

t

)

A
.

(1)

17,168,000&

MW

17,168

17,168
10,112
2,022
5,034

16,853

401

A& HI L0

M

2,320,480
1,291,119
294,218
735,143

1,304,542

1,015,938

01

02

03

Al £ Hl

O=ItRI1(2,000na)

22l
O=ItRJI
Al & 2 CHH

2,081,613,000&

126,463,000

104,000,000

H

W

2,208,076
2,081,613

1,220,356
277,235
584,022

126,463

70,763
16,983
38,717

104,000
104,000

8,404

1,249,498

55,044

958,578

48,956

8,404
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p) 2,081,613,000& = 0.36% 7,494
s2tel 910,000& 910

402 QI2EXHE01M 304,015 0 304,015
184,649
35,810
83,556

MW

02 QIZtCHEHAFHHI 304,015 0 304,015
Ol2UHA =& 297,615,000& 297,615
181,449
34,850
81,316
O&r& B HH & 2 4 (500ha) 6,400,000& 6,400
3,200
960
2,240

M

MW

00
=z
Mo
-
In
-
0

40,000 40,000 0
20,000
10,000
10,000

W

402 QI2ERE01M 40,000 40,000 0
20,000
10,000
10,000

MW

HL

01 & =2 40,000 40,000 0
OF:IE=3=11.[ DAFSN= 40,000,000 = 1A 40,000

20,000
10,000
10,000

rU
P

H

32 ESAY 21,080 0 21,080




SN EAMED
Ha: MRS ESY
Sl AR ZWE As (S &)
- _ _ NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
= 11,760
= 1,006
2 8,294
402 212t XHE 0| F 21,080 0 21,080
=2 1,760
= 1,006
2 8,294
01 UATEBE 21,080 0 21,080
OHRYY BI(ZLE) 5,180,000 5,180
= 2,220
= 326
2 2,634
OBBUY B3 (LBIANES) 15,900, 0002 15,900
= 9,540
= 700
2 5,660
AP AHIA Sa2 F| 127,294 0 127,294
= 38, 188
= 22,339
2 66,767
401 N EHILR ] 127,294 0 127,294
= 38, 188
= 22,339
2 66,767
01 Al&l 127,294 0 127,294
OS2 I AL (4kn) 127,294,0002! 127,294
= 38, 188
= 22,339
2 66,767
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SN BBAYD
By MATH LS
SHel MR ZM s (Sl &2
- _ — NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
212401 H FHI 7Y 26,000 0 26,000
2 13,000
= 3,900
2 9,100
405 XH&HF SHI 26,000 0 26,000
2 13,000
= 3,900
2 9,100
01 XAYSEFHSY) 26,000 0 26,000
O2g3Ho0IE AX 10,000,002 * 1cH 10,000
2 5,000
= 1,500
2 3,500
0282l 8,000,002 * 2CH 16,000
2 8,000
= 2,400
2 5,600
NP RS 758,421 642,903 15,518
2 160,516
z 323,680
= 110,010
2 164,215
S=INPE 462,400 375,420 86,980
z 323,680
= 69,360
2 69,360
101 2121t 15,600 0 15,600
z 10,920
= 2,340
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2
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R
J2H
0l
N

M

2,340

04 JIAHZ 2SS E= 15,600 0 15,600
F) 15,600, 000& 15,600
10,920

2,340
2,340

0o
H
]
[l
o
~

M HY OR

401 AIEHIZ 20 446,800 375,420 71,380
312,760
67,020

67,020

I

M H OR

01 A&HI 443,724 372,841 70,883
OLTAIE 443,724
—&AIE B (14km) 16,512,000 16,512

— Al&HI 427,212

- A A (1.0km) 203,021,000 203,021

142,115
30,453
30,453
- P ZRIHZE(3.0km) 179,191,000& 179, 191
139, 145
29,817
10,229
- A= 2 2(10.0km) 45,000,000& 45,000
31,500
6,750
6,750

03 A&=20HYI 3,076 2,579 497
OeEAE 427,212,000& * 0.72% 3,076

M HY o8 M H oY

M H O]

TEAMY X 296,021 133,561 162,460
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= 160,516

& 40,650

= 94,855

401 AlEHI LS HH 270,650 96,515 174,135

= 140,783

= 38,959

= 90,908

01 AlZHI 263,774 90,792 172,982

O A 263,774
— & Al& HlHI (30ha) 5,012,000& 5,012
= 3,508

S 451

= 1,053

— B Ml==(43ha) 102,665,000 102,665
= 65,268

= 11,778

= 25,619

— M Ef =8 (20ha) 13,154,000& 13,154
= 8,842

S 1,293

= 3,019

— = &AM =(10ha) 27,318,000 27,318
= 18,318

= 2,700

= 6,300

— 2Lt EH(10ha) 18,010,000& 18,010
= 5,403

= 12,607

— 2222 (7ha) 79,668,000 79,668
= 38,834
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0l
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12,250
28,584
— AFRUTHBH = T (3ha) 13,299,0002! 13,299
3,990
9,309
—HI2%D|(3ha) 648,000 648
504
43
101

— 2zt 4,000,000& 4,000
2,000
600
1,400
02 Zcldl 5,013 4,950 63
Ox=EAMI 5,013,000& 5,013

3,509
451
1,053

1,863 773 1,090
1,863,000 1,863

EURCH Mok

M
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MW
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=2
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I

O
o
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8%

402 ¢l

rJ
P}
i
=
[Pl

25,371 20,296 5,075
19,733
1,691
3,947

H

o
e
N
al

25,371 20,296 5,075
(REEXNZE 10ha) 25,371,000 25,371

19,733
1,691
3,947
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o kA

O
P
oY

M
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SN BB SR(S) - MRAY - BES arol e s
SNUHERIAFREAY 2,348,372 2,942,814 ND594,442
=2 30,000
& 210,000
= 130,000
i 1,978,372
MEFH =35 Y A2 (AHA) 1,018,372 1,203,813 A 185,441
101 Q14| 392,656 880,642 A 487,986
04 JIZHMIZ2XESE =+ 392,656 880,642 N487,986
OZFEFEINFI ZdAE 392,656
—=XEHSH(HE) 14,960
QI 21H| 68,0003 1 » 200 13,600
S22 68,000& * 198 * 20 1,360
—=XZ I SH(ASE) 161,700
eI2Ad| 49,000% » 15 = 200 147,000
e 49,000& * 15% » 20 14,700
—=ANZAMNI(ZZIIER 14,960
elals] 68,0003 »1H+200H 13,600
S22 68,0003 »1H 20 1,360
—22, 234 AFZ2(2) 47,129
eI24d| 34,9108 » 15% = 90 47,129
—22, Z34 AFE22(SH) 87,974
ellala] 34,9108 » 28 » 1401S2H » 90 87,974
—SMEX At=2tel 26,183
o1 244l 34,9103 159 * 50 26,183
—40EE= 352,906,000& = 0.103 36,350
— L= (=XIZHI&) 3,400
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385,000
350,000&

350,000&
385,000&

900,000

300,000&
500,000

1,416 = 101 = 304 » 100&
1,623 = 100H * 4A12+ » 100
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A SF L
M NN SA
ool =X HEAIREAY (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
- Ol DI 1,623 = 100H = 4AI2+ = 100 6,492
- E321 1,4163 » 10H = 4AI2F » 24 = 502 567
=) & 2RI 1,623% = 501 = 4AI2H * 50 1,623
AU we 5,000& = 3004 » 5 750
—sHHg2cE EHH |KRFU 1,4163 = 3001 » 60¢£ » 30 7,647
—=sXNEH XS FH 14,860
et 1,416% » 104 = 504 » 200 14,160
A e 35,0003 * 43| » 5CH 700
202 044l 9,600 9,600 0
01 =W 9,600 9,600 0
O=sXEZZAY HRFA 20,0003 * 4F » 10 = 123 9,600
206 M=l 96,497 103,572 AT,075
01 Mz bl 96,497 103,572 AT,075
OFE&EZI3RI| XM 29,397
— =30 78,0003 * 508tA 3,900
—=3& 58,5003 * 50&8tA 2,925
—=3H0l = 67,0008 * 508fA 3,350
—=SXFSHE 35,0008 * 508fA 1,750
— ISt 5,000& = 3002 1,500
—&4d 29,000 * 1502 4,350
—E2 28,6003 * 208tA 572
— DXt 90,000& * 104 900
— M Xt 35,000& * 5004 1,750
= 90,000& * 200K 1,800
—XIANEE(2N) LRE2 66,000& * 100= 6,600
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A SF L
M MATAL SR
ool =X HEAIREAY (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
Otz & 23 Hols2M AM(E4SH, &=H S) 15,000& * 3008 =* 53] 22,500
Ooxd=5 & 2 g¢AHl 12,0003 * 2509 * 43 12,000
O==% =sEdl(4YY) 9,900&  1,000%£ 9,900
O== K== 10,000& * 100X 1,000
O== 2| 2l 14,000
—=5 Hois Z&I| 5,000& = 2,0000H 10,000
—SoHeX AHA 2,000& = 2,0000H 4,000
OZZLx=HE ZN(2AR2AQ 5F) 7,700& %1,0005 7,700
207 HIOHEHI 20,000 0 20,000
01 ¢22E S| 20,000 0 20,000
OEANExZd & 228 =8HEd 20,000,000& * 14 20,000
401 A EHIL 204 385,000 85,000 300,000
01 Al&HI 385,000 85,000 300,000
Ojtz2= 24l 100,000& * 5002 50,000
OFEZEFXEMEN SA2H] JIZEAE A AL H I 20,000,000& 20,000
OFEZEXTLHMIEX S22 (EE M=, EHOI XIF=EHE S 315,000,000& 315,000
405 AHoHESHI 9,440 9,910 A470
01 T =SS HSHI 9,440 9,910 N470
OJIAHE =¥ 500,000& * 3CH 1,500
OsgauxI = 300,000 =+ 504 1,500
Oz MM ¢ 1,970,000& * 2CH 3,940
OsgadEI ¢ 500,000& = 2CH 1,000
Oos’a1lNs 500, 000& «3CH 1,500
Met=d =3 Y AEZ(BEX) 193,000 110,000 83,000
= 58,000
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SN EAMED
HE: NN S
ol =X HES T RS A (S &2)
- _ _ XN -
SH - EB - S(BH) - MBAY - BES 0l & 24 e BB
= 135,000
401 Al&HIL 20| 193,000 110,000 83,000
= 58,000
2 135,000
01 Al&H] 193,000 110,000 83,000
GEInES=ESE 60,000,000 * 1944 60,000
= 18,000
2 42,000
OMEZH =X 22 AS22 133,000,0002 * 14! 133,000
= 40,000
2 93,000
HEZTY 257,000 931,000 A674,000
203 YREZY| 2,000 1,000 1,000
03 AlZZ=TQ R =Y 2,000 1,000 1,000
OZEHYIHIPIINY £ 200,008 * 103] 2,000
401 Al&HIL 20| 255,000 930,000 A675,000
01 Al&H| 255,000 930,000 A675,000
ont2aH =4 25,000,0002 * 94 225,000
OBX L SWAILS LM 300,0002! * 10074 30,000
B2 BSN =4 210,000 168,000 42,000
401 Al&HIL 20| 210,000 168,000 42,000
01 Al&H] 210,000 168,000 42,000
OZS(4NE) AT 70,000, 0002 70,000
OAAZE Z3t Pl 100,000, 00024 100,000
S-% BUXH(1ANS) 25,000, 0002! 25,000
ONSE BSISHEH(3HL) 15,000, 0002! 15,000




A SF L
B METASESY
tel: SXHE/IRSAY (chel: &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
SsZHAXN SMEX =4 110,000 110,000 0
401 A EHIL 204 110,000 110,000 0
01 Al&HI 110,000 110,000 0
OSMHX =24 110,000
—HX AIEZ2l(HlE, B8l &4X 5) 750,000& * 40ha 30,000
—Ho, MAIANE Ex & FHI 30,000,000& * 14 30,000
— S8 3l T4 (A=1,000m") 20,000,000& * 14 20,000
—Z8E8 3t =4 (A=1,500m") 10,000,000& * 32 30,000
tMHEsAd=sMBAHEd 420,000 420,001 A
= 210,000
= 63,000
= 147,000
401 Al&HI YR OHYI 420,000 420,001 A
= 210,000
= 63,000
= 147,000
01 Al&HI 417,110 417,105 5
O=MATZA (1) 417,110
— & A& A 15,708,000& 15,708
— A& H] 401,402,000& 401,402
& 210,000
L= 63,000
i 128,402
03 Al£ =204l 2,890 2,896 AB
O=sMNIS3 2,890,000& 2,890
MEtel T M| 140,000 0 140,000
= 30,000
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|m o g

B
2ty
SEEEINE

[
0
F
10

- _ — HE &
SN -ZH-S2A(EA) - NRAY - BES Aol 01,‘;5‘; HlusSZ
< 9,000
= 101,000
401 AIEHIZ 208 140,000 0 140,000
= 30,000
S 9,000
= 101,000
01 Al£Hl 140,000 0 140,000
O u=xH(5MHA) 140,000,000 140,000
= 30,000
S 9,000
s 101,000
HH2AAH(BR L) 54,380 49,900 4,480
Jl2ddl (g A t) 54,380 49,900 4,480
23l (d &) 54,380 49,900 4,480
201 et 29,680 27,700 1,980
01 At 2t2ibl 29,680 27,700 1,980
Oget=gH| 11,200,000 11,200
O=EHl 5,000& » 28% ~ 11 » 12& 18,480
202 OdHl 16,800 16,800 0
01 =LHOYI 16,800 16,800 0
OJl=2gl=d 50,000& * 28 = 128 16,800
203 ¥ =&l 4,200 4,200 0
04 FEAN2SHRFAH 4,200 4,200 0
ORAN2SHRF4HI 350,000& = 12 4,200
204 AR HH| 1,200 1,200 0
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